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PHYSICS SSC-lI
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.
(1) If the length of a simple pendulum is halved, its time period T will become

A. L B R C 2T D. 2T

2 | J2
(i) The unit of frequency is .
A Newton B. Metra C. Cycle D. Hertz

(iit) The unit of intensity of sound is

A W.n B. W™ C. W D. N.m
(iv) The refractive index of water is

A 1.33 B. 1.0 C. 242 D. 1.30
(v) If the focal length of a lens is 2m, its power will be ;

A 2D B, 025D C. 05D D. 10D

(i) The distance between two point charges is 20 cm. If the distance is reduced to 10 cm, the
Coulomb's force would become .
A Half B. Two times c. One fourth D Four times

(vii) The power of an electric Fan is 3

A 80 watts B. 120 watts C. 20 watts D. 40 watts
(viiy  The shape of magnetic lines of force in case of a straight current carrying conductor is

A. Elliptical B. Circular C. Triangular D. Rectangular
(ix) Which of the following radio-isotopes is used to diagnose the brain tumor?

A Cobalt - 60 B. lodine - 131 C. Carbon - 40 D Phosphorus - 32
(x) In an N-type crystal, the majority carriers are

A Holes B. Protons

C. Free Electrons D. Positrons
(xi} Which of the following discs is called the storage disc?

A. Hard disc B. Compactdisc C. Floppy disc D. C.D Rom

(i) What is the energy produced from 10 kg of carbon if it is completely changed into energy?

A. 3Ix10°J B. 9%10"7.J . 9x10"J D. None of these
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Time allowed: 2:40 Hours

PHYSICS SSC-II

Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3

SECTION - B (Marks 33)

Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 = 33)

0
(ii)
(iii)
(iv)
v)
(vi)
{vii)
(viii)
(ix)
(x)
(xi)
(i)
(xiii)
(xiv)

(xv)

Derive the relation between Velocity, Frequency and Wavelength of the wave.

Voices of women and children are shriller than that of men. Why?

Fish can see the objects around them clearly. Why?

How can we distinguish between a Conductor and Insulator with the help of Gold leaf electroscope?
Capacitors of 3uF and BuF capacitance are connected in series. Find the equivalent capacitance.
State the Ohm's law. What are its limitations?

State the rule by which the polarity of current carrying solenoid can be found?

Give any three properties of Beta (/) -rays.

Draw only circuits for Forward Biased Diode and Reverse Biased Diode.

What is the difference between Floppy disc and Hard disc?

What is the difference between Potential difference and emf?

Define Watt.

Briefly explain Joule's law.

Write any three uses of Spherical mirrors in our daily life.

What is the difference between Stable nuclides and Unstable nuclides?

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Define the following: 03
(i) Transverse waves (ii) Diffraction
What is spherical mirror formula? Derive concave mirror formula. 04

A vibrating tuning fork of frequency 256 Hz is held over the top of a vertical tube full of water.
The water is allowed to flow out slowly from the tube and a loud sound is heard when the air

column in the tube is 33 cm. Calculate the speed of sound. 03
State Coulomb's law. 03
What is a Transformer? Upon which principle does a Transformer work? Also write the name

of types of Transformer with diagram. 04
Potential difference of 10V is applied across a conductor. If a current of 1.5 A is passing through

it, how much energy would be obtained from the current in 1min? 03
What is the difference between Nuclear fission reactions and Fusion reaction? Draw their diagrams.
Also write equations of their action. 05
What is ‘OR’ gate? Explain the use of ‘'OR’ gate in house safety alarm with the help of diagram? 03
Draw symbols for the following: 02
(i) NAND gate (if) NOR gate
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PHYSICS SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:-

Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1

Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

0] if the mass of bob of a simple pendulum is doubled, its time period
A Is doubled B. Is halved
C. Remains the same D. Becomes four time

(i) The product of frequency and time period is equal to

A. 1 B. 0 C. v D.
i The intensity level of faintest audible sound is !

A. 100 dB B. 10dB C. 0 dB D.
(iv) Gastroscope is used to examine .

A Liver B. Brain C. Stomach D.
(v) In the primary rainbow, the colour on the outer edge is .

A Indigo B. Red c. Blue D.
(vi) The temperature at the surface of the sun is nearly

A. 100 MK B. 5 MK C. 20 MK D.
(wvil) 1kWh is equal to :

A 0.36 MJ B. 36MJ C. 36 kJ D.
{vii)  Transformer works on the principle of

A Mutual induction B. Self induction

C. Induction D. Electrostatic induction
(ix) Penetrating power of which of the following rays is very high?

A, Alpha (& ) rays B. X-rays

C. Beta(f) rays D. Gamma(y ) rays
(x) Equation of OR operation is

A. X =AB B X=AB € X=A+B D
(x1) Floppy disc can store data of about

A 1.44 MB B. 2.5MB c. 256 MB D.
(xii) When an object is placed at C in front of a concave mirror, then image is formed

A AtF B. AtC

€. Between C and F D. Between F and Pole

For Examiner’s use only:

Total Marks:

Marks Obtained:
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Time allowed: 2:40 Hours

PHYSICS SSC-II

Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:
Q.3

SECTION — B (Marks 33)

Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=233)

@

(ii)
(iii)
(iv)
v)

(vi)
{vii)
(viii)
(ix)
(x)
(xi)
(xii)
(xiii)
(xiv)

(xv)

Write any three characteristics of S.H.M.

What is the difference between Noise and Music? Also draw their wave forms.

Define Linear Magnification. Also give necessary conditions for the total internal reflection.
What is the difference between Electric Potential and Potential difference?

The capacitance of a parallel plate capacitor is 100 pF. If the potential difference between its
plates is 50 volts, find the quantity of charge on its plates.

How can we convert the Galvanometer into an Ammeter?

State Fleming's left hand rule.

Write down any three properties of alpha () rays.

What are Rectification and Rectifier?

Write down three uses of the graphic designing.

Write down the uses of Radio |sotopes in Agriculture.

Why does a Short sighted person use a concave lens?

Write any six precautions to minimize radiation dangers.

A stationary wave of fundamental frequency 250 Hz has been generated in a medium. Calculate three

higher frequencies by using formulaf, = nf, at which stationary waves could be produced,

Name the factors on which loudness of sound depends.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Define the following: 03
(i) Aperture (ii) Critical angle (ii) Electric field

Derive the lens formula of a thin convex lens. Also write sign conventions about the focal length and
distances of object and image. 04
The time period of a wave is 5 seconds. If velocity of the wave is 10m s, then what will be

its wavelength? 03
Wirite down the characteristic features of the parallel combination of resistances with diagram. 06

The resistance of an electric bulb is 500 £2. When a potential of 250 V is applied across its ends,

then find the power consumed by it. 04
Define the following:

(i) Transformer (i) Half life (iii) OR gate 03
What is an N.P.N Transistor? Draw its symbal. Also explain the action of an N.P.N transistor

with the help of diagram. 05
Draw Truth Table of NAND gate. 02
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